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TORTS

I. The Rule Doesn't Matter

A. What does this mean? – it means that when we look at the world from cloud view, after the decision in a case, if the resulting action is the same, then the rule doesn't matter.

II. Intro to Tort Law

A. Vosburg v Putney: Kid in school with pussy knee. 

1. A kicks B. A pays. 

2. Wrongdoer Pays. 

3. But How Much? Possibilities:

a. You pay for what you cause.

b. Actual but only up to average

c. Expected (average)

d. Restitution (you disgorge the benefit you received)

4. Deterrence – Actual damages best. Other rules under-deter or over-deter.

B. Contracts versus Torts

1. K damages would be actual up to average or average. This is under-deterring b/c Pls could receive more in damages then they actually suffered. Creates a moral hazard problem.

2. HYPO: Business Loss Case: People dancing wildly destroy computers. X brings in computer to be fixed and store owner says 1 day turn-around. Y brings in a computer and offers $1000. bonus to fix his first. 

X would suffer $6000. in Δs if computer late 1 day.

a. Y offers bonus.

b. Average loss for a late computer is $500.

c. In K law, X gets $500. In Tort law, gets $6000. WHY?

K- $6000 would be unforeseeable to owner (a la Hadley v Baxendale, but would be an information-forcer) (and service store not a bargaining situation, so info-forcing not appropriate incentive)

d. Torts – want to discourage destruction and injury, so high damages work here.

3. SO, in Torts, no precision needed ( the boy doesn't need to know that the knee is pussy, no one should go around kicking other people. AND, in K, precision is necessary. Store owner needs to know which computer is more valuable to make an informed decision about which repair to make first.

C. Unambiguous Benefits (Consent/Non-consent)
Mohr v Williams (last ¶) – where ♀ with diseased ear went in for surgery and Dr found other ear to be worse, could only fix one, so fixed the one he wasn't supposed to and was accused of assault – last ¶ says courts should take into account the benefit conferred when assessing Δs.

a. Hudson v Craft – Pl was young kid who was paid to fight in boxing match at carnival. P was injured and sued carnival owners. Here, the kid consented to fight, in Mohr, the patient did not consent, so she collects. 

i. 2 possible rules

Majority – Jawbreaker pays/ encourages kids to go to police

(a) Minority – kid (who was a volunteer) can't collect

ii. BUT, in this case, the carnival promoter (likened to the doctor in Mohr) paid b/c of public policy reasons (we want to stop illegal boxing matches)

2. A kicks B. A pays. BUT if A's kick benefits B, then B might owe A something for the benefit. 

a. Usually no recovery except for emergency situations. 

b. HYPO: Fire extinguisher: X uses his fire extinguisher to put out fire on Y's car. Does X get $ from Y for fire extinguisher? Yes. Emergency. Definitely unambiguous benefit.

c. HYPO: Elevator Installation: Guy puts in a new elevator without being asked. Recovery from the law school? NO. Not unambiguous. School could have gotten cheaper elevators, etc.

3. If the tortfeasor KNOWS that the Pl wants the benefit, then there is no market problem, so it is an unambiguous benefit. BUT, if it is a service conferred (like putting gas in someone's car or mowing someone's lawn, it may not have the same value to the person receiving it as the person conferring.)

III. Negligence versus Strict Liability

A. Wrongdoer Pays (Negligence Rule)– Courvoisier v Raymond – guy shoots policeman by accident during riot and cop sued, but guy wins b/c he wasn't a wrongdoer – ONLY WRONGDOER PAYS
B. Causer Pays (Strict Liability Rule) – Vincent v Lake Erie Trans – Ship caught in a storm so it couldn't leave the harbor, ship stayed tied to dock and dock was destroyed b/c of it. Dock owner sues ship owner. Ship owner Pays.- CAUSER PAYS (anyone who causes harm)

	Pier worth $25
	Causer Pays
	Wrongdoer Pays

	Boat worth $30 (
	Pay (25)

Docking
	No Pay

Docking

	Boat worth $10 (
	Pay

No Docking
	Pay (b/c it would be selfish)

No Docking 


First example of the Rule Doesn't Matter…..

(but, Vincent is win-win b/c of the long-term relationship of the ship owner and the dock owner – both benefit from the SL rule)
A. General Average Contribution – Mouse's Rule

1. Property/Loss becomes community property, so everybody pays for one person's loss – The rule still doesn't matter, but is designed to protect people so they won't have to guard their own cargo.

B. Government Takings/Eminent Domain

1. Causer Pays Rule – Gov't can take, but it has to pay.

2. Gov't goes to Boeing and takes planes – PAYS, Win-Win, b/c if gov't pays, Boeing will continue to make planes, but if you don't pay, they won't make any more planes – so the rule makes sense

3. Rookie Pilots who are drafted – NO PAY – This rule makes sense b/c if the gov't doesn't pay, it doesn't matter, b/c they have you – won't change your availability, as in the planes case.

C. The Tragedy of the Commons – If everyone allowed their animals to graze in a common field, the field will get over-grazed – very few people would be willing to bring seed, though everyone will want to send their cows to graze, SO ( you have a strict liability rule.

D. Overall default Rule: Negligence, because we like to make wrongdoers pay

· If we can't have a rule which discourages the wrongdoer by having a rule that the wrongdoer pays, then we need to have a causer pays rule, because then the wrongdoer will be included. 

IV. Coase Theorem Cases

A. Stone v Bolton – "legislative metabargain" - Cricket field case, where woman gets hit by wayward cricket ball, and DOESN'T PAY, b/c court found the cricket guys only had a duty to prevent reasonably foreseeable consequences
B. Madsen v East Jordan Irrigation – Mink ranchers sue blasters. Normally strict liability rule. Why? B/c blasters have all the knowledge regarding the blasts, and the evidence disappears with the explosion, so we normally hold them strictly liable. BUT, here, the mink rancher had special information about how to prevent the minks from eating their babies. The burden falls on the mink rancher, b/c that is the most efficient solution. 

C. 84 Lumber and the Golf Guy – "the hypothetical bargain" - where a driving range's wayward golf balls are damaging the tractors on display outside the lumber yard.

1. Lumber guy's options

a. A screen in between the two businesses costs either 200 or 700

To switch to displaying 2 x 4s costs 400

b. To absorb Δs costs 500

2. Golf Guy's options

a. Screen = 200 or 700

b. Switch = 300

c. Absorb = 500

3. What will they do? 

a. When screen costs 200, both would choose that option

When screen costs 700, either one would switch or pay the other one to switch, so either way…..

4. THE RULE DOESN'T MATTER

· This works b/c businesses have no taste – no offer-asking problem

· Basically, the people will bargain their way to the most efficient solution….again.

V. Rylands List – Strict Liability

A. Win-Win

1. Vincent v Lake Erie (and last ¶ of Mohr) – Boat owners and dock owners – dock owners want the business from the boats, boat owners want the docks there for storms, so both want the rule to be SL. (Boat owners willing to pay for cheap dock to save expensive boat)

2. Government Takings – the Boeing 747s (see above)

3. Grazing Cattle – cattle owner wants the neighbor not to put up the fence, neighbor wants to be compensated for cattle coming over to eat the grass. So, cattle owner willing to pay for the grass to not have the fence.

B. Evidentiary Problems– either evidence is destroyed or is entirely in the hands of the wrongdoer – we cannot deter wrongdoers if we can't prove they are wrong, so we want a rule that will deter the wrongdoers without letting any get away b/c of lack of evidence.

1. Olde English Fires – and Exodus 21:16 – Olde English rule was that anyone who started a fire that spread paid. Why? we want to stop wrongful fires, BUT, problem w/ fires is that the fire consumes all the evidence, so we can't know if it was wrongful or not. We can't deter with a negligence rule, so SL.

2. Blasters – Blasters have all the control over the explosives and it would be very difficult to gather evidence to discover whether there was a negligent explosion. So, the causer pays rule "catches" the wrongdoer.

3. Common Carriers – If your package gets lost/damaged, it would be very difficult to figure out why the pkg got lost/damaged. We need SL.

4. Old Innkeepers – if a person's room gets robbed, the innkeeper is SL, b/c no way for us to find out who knows what. Only way to give incentive to innkeeper to have better security.

5. Kingston – fires that join with suspicious fires

C. Info-forcing ala Hadley v Baxendale
1. Water Hoarder – Rylands v Fletcher - the uphill guy with the water knows he must pay if he doesn't warn the downhill guy, so he warns him TOO MUCH. Downhill guy incurs excessive costs putting out sandbags when no water comes. Needs a SL rule? Something that will make them be more cooperative – uphill guy must be more accurate, b/c he has better information.

D. Res Ipsa Loquitor – the thing speaks for itself (see p.9)

1. Wild Animals - 99/100 when a tiger gets out to do damage, the owner was negligent, so the owner pays. – not worth the time and money in court to discover the 1% of the times where the owner is not negligent. The SL rule works better.

2. Pfaffenbach- driver on the wrong side of the road
3. Byrne v Boadle – barrel flying out of the window (1 barrel, 1 bldg, 1 owner)
4. Colmenares – elevator lurching - here we must have confidence that the probability of injury is a lot greater with negligence than without.
5. Rodeo Promoter – 51% wrongdoers, but promoter could have done more, so RIL – promoter can't collect.
6. Gearhart Industries – exploding hand grenades
7. Ybarra all together - 

E. Vicarious Liability 

1. Employers are strictly liable for the negligence of its employees; generally not SL for the intentional torts of employees, except in cases like military (Bushey), where they have more control. 

a. Also, Independent Contractor exception (see p. 16, infra)

F. Worker's Compensation

1. See Damages, p. 27, infra

G. Wealth Redistribution Effects with SL

1. If H2O company is strictly liable to homeowners for damage, and rich guy has house worth 4, poor guy has house worth 1, but usage is about equal.

Neither will get insurance, which saves the rich guy more than the poor guy, and if Δs occur, they will recover equally, b/c they recover according to water use. Thus, the wealth is redistributed from the rich to the poor.

VI. Moral Intuitionism

the Rule RE: moral intuition: The more nervous we are of the amount of discretion the actor possesses, the higher the potential discretionary abuse, so the more the discretionary actor will have to pay.
1. A threatens B, B can kill in self defense (Courvoisier)

2. B, in self-defense, kills an innocent prospective(who is strapped to the front of a hummer) – OK (all war is ok) (compensation? ala Boeing 747s? probably not, but could go either way) – no discretion in this case, so we think it is okay

3. B grabs prospective to use as a shield – NOT OK – under Vincent, B pays, under draft, no pay – too much discretion in choosing the student to put in harm's way

4. Freezer and the Ferrari – hero finds a freezing guy, breaks Ferrari window to save him.  – if freezer is broke, then hero pays, but if freezer can pay, then he would pay. Why? b/c hero has huge amount of discretion in choosing the car to save the freezer, and we are all about minimizing costs, so we want to encourage choosing the Gremlin. 

5. Trolley problem – do you switch the track to kill one in order to save 5, or do you let the 5 die? – switch – it is an emergency.

6. Sacrifice 1 patient to save 5 (with a transplant operation)? – too discretionary, not ok

7. Steal from 7-11 to save 100 kids dying in Bangladesh? – Not ok b/c actor is not the only person who can save the people in Bangladesh – can't say that one actor knows better than the government.

8. Suburban in a driveway, neighbor wants $1.83 for lung damage – recovery? If SL rule, then yes, but this is not the rule.

· For Legal Philosophers, Strict Liability is the preferred rule – this is the basic moral intuition rule – our morals want this rule. BUT, our system has a lot of wrongdoer pays rules….

· If both parties "cause" it, then we need a tiebreaker, so this is where moral intuition comes in.

· If Discretion is involved, you pay. However, if legislative intervention is involved, then defer to it.

B. No Discretion versus Total Destruction

1. Bird v Holbrook – Volenti non fit injuria – " person cannot be harmed by that to which he consents." – The spring gun case, where P went into D's garden to fetch a pea-hen and gets injured by a spring gun.

a. normally, a trespasser cannot maintain an action for an injury caused by his trespass, BUT, courts dislike total destruction so much, that they must require the spring gun owners to give notice to trespassers, so they will pay.

2. There are time when the law likes Zero discretion – as in airport security checks – no one gets through without getting checked – only fair way to deter people trying to smuggle stuff past metal detectors.

C. Incapacity Cases

1. McGuire v Almy  - D locked in his room goes wack-o and threatens to kill everyone. P was a nurse in charge of taking care of D. P went in and was assaulted, then P sued. Court found for P, but OUTLYER – normally insanity is a defense to negligence. Ruled for P b/c had control over D, was his caretaker. Rule from this: the less we can control a nut, the less liability will be found against him.

2. Roberts v Ring – Infants – Infants are to be judged according to their relative level of understanding and care expected

3. Daniels v Evans – Exception to Rule of Infants: When undertaking adult activities, such as operating a car, a minor or elderly must be held to the same standard of care as a reasonable adult.

4. Breunig v American Family – Liability is not imposed when the occurrence of the disability is not reasonably foreseeable.

VII. The Anti-Rylands List

A. Even If You are a Wrongdoer, You don't Pay

1. Fireman's Rule – You do something negligent and cause a fire, the fireman gets injured when putting it out, you DON'T pay – b/c it is like "battle pay", and people won't call 911 if they think they caused a fire.

2. Snowplow Rule – If you wake up in the morning to go to school and the City has not plowed the streets and it is considered wrongful, the City does NOT pay – b/c politics can control snowplows (lost votes/campaign contributions, etc)

a. note: If the plow hits you b/c it was going too fast, then the City would pay, b/c that is a driver issue (Torts control snowplow drivers)

3. Agent Orange – Negligent of gov't to start a war, but they don't pay for the negligent war, b/c it should be left to politics to control bad wars, not tort. VOTERS take care of bad gov't, not JURIES. (Agent Orange – may have to pay for that b/c it is a specific tort on a person or group of persons)

4. Negligent Ambulance – you call 911 and ambulance doesn't come – the City does NOT pay, b/c we want ambulance and 911 to try to improve the system and not be burdened with liability and litigation. 

5. Fletcher v City of Aberdeen – like the ramming snowplow hypo – though we don't want to discourage utility companies from burying wires, the individual actor should be held liable for not maintaining barricades, so city DOES pay.

VIII. Calculus of Risk

A. What does it take to make conduct negligent?

1. TERRY (p.194) - Factors that may effect the reasonableness of a given risk:

a. Magnitude of the Risk

b. Value or importance of that which is exposed to the risk

c. The collateral object – something the risk-taker is trying to attain

d. Utility of the risk (probability that the coll. object will be attained)

e. Necessity of Risk (probability that the coll. object would not have been attained w/o taking the risk

2. SEAVEY (p.195) - Purpose of actor, nature of his act, and the harm that may result are elements to be considered when calculating risk.

B. Incremental Damages

1. Searching for the appropriate level of care in a negligence system

a. Too much care: imposes small increases on the defendant's total costs

b. Too little care: Exposes the defendant to onerous tort liabilities

2. Under a SL system, no incentive to prefer one error over the other, but in Negligent system, D has incentives to take additional care.

3. The bigger the "cliff" the further away from the edge you will stay

a. If there is any uncertainty in your ability to stay away from falling off the edge of the cliff, then you will stay further away from the edge (the bigger the risk, the further away you will stay)

b. SL System – No cliff – you pay all along for the harm you caused and the cliff effectively disappears.

4. Incremental Damages could make the cliff into a curve – if we have good information about how your behavior incrementally caused the harm or the degree of harm, then we can assign appropriate damages.

C. US v Carroll Towing (the Hand Formula)

1. Owner's duty is a function of three variables:

a. Probability of the event actually happening

b. Gravity of the resulting injury

c. Burden of adequate precautions (costs of prevention)

2. Liability happens if: B(burden) < P(probability)xL(injury)

a. so, if the cost of prevention is less than the injury multiplied by the probability of the act happening, then the D must take the precaution, or pay damages if he takes the risk.

IX. Custom

A. A shortcut to Carroll Towing decisions:
1. P just has to show that D wasn't being reasonable by industry standards (sword)

2. D can show he was reasonable by industry standards (shield)

B. The TJ Hooper – very famous case

1. Learned Hand opinion - D didn't equip his tugboat with a radio – in the business it was customary not to have such equipment. – liability anyway, b/c "there are precautions so imperative that even their universal disregard will not excuse their omission."

2. BUT, court says custom is not a defense to a gross violation of Carroll Towing

3. For Custom to be a valid defense, you need to have:

a. Communication (parties knew what they were getting into)

b. Choice (they could have, and did, make a selection)

c. Components (the thing in question is a major part of the choice)

4. Custom defense is really a statement that the market works

C. Internal Standards Violations

1. A clue to Negligence: custom used as a sword rather than shield. If plaintiff makes a market choice based on extra safety measures (especially if they are advertised) then D should be held to that standard.

a. Even better to use average industry standards

b. Lucy Webb Hayes v Petit – hospital not liable for suicide of patient even though their own codes were violated (different result if codes had been used by all the hospitals)

2. Medicine – Medical Malpractice

a. Seems like they would go on the Rylands list b/c of evidence problems

b. BUT, determining cause is difficult – hard to measure the old illness against the new illness

c. Kind of like a deal – No SL, Yes Negligence, BUT, still difficult to determine CT damage/liability, so we will abide more by CUSTOM in Dr's cases.

D. Retroactive law – Updating Custom

1. Trimarco v Klein – Shower Door case – should we hold shower door makers liable for doors made b/4 technology was made available?

2. Arguments for holding them liable

a. Operate like an info-forcing rule – innovators should put safety measures in sooner rather than later

b. makes lobbying against new regulations unprofitable – you will pay in the end anyway

3. Arguments against holding them liable

a. Manufacturers could keep innovations secret forever

X. Statutes

A. Standard

1. Usually we have a standard outcome system – you get injured, we make someone pay.

2. Every once in a while, we have a regulatory statute, which is an up front system – you have to pay a fine for violations, regardless of whether there was an injury.

3. The rule shouldn't matter – because of the costs - 

B. Why have a mixed system?

1. Some people respond to an up front system, some people don't so we need both.

C. Statutes can be a shortcut to a negligence finding

1. Evidence thereof, but not proof, unless the legislature says so

a. Osborne v McMasters – Poison not labeled in a drugstore – the legislature has defined the negligence for you – less litigation with these situations

2. Brown v Shyne – medical licensing provides shortcut to negligence determination when random licensed doctor would have been better than the unlicensed doctor you got

a. hypo: world famous heart surgeon cuts open a man having a heart attack to save him, but he dies anyway, and family sues, b/c the Dr. doesn't have a license to practice in the US. No liability, b/c no reason to think that they would have gotten a better licensed dr.  – no indication that a license would have indicated a higher level of skill/care.

D. Purpose of Statute/Enforceability

1. Gorris v Scott – sheep on a ship, weren't kept in proper pens to keep them from spreading disease, and washed overboard during a storm.

a. P brings suit and points to statute, BUT, D says, that was not the purpose of the statute – purpose was not to prevent sheep from going overboard, but to prevent spread of disease. 

b. No liability – we don’t need to impose liability in this case, b/c if they don't comply with the statute, we will know b/c the disease will be detected easily as having spread – no enforcement problem

2. Wellington – Broken pipes because truck was too heavy. P points to the staute regarding weight limits, D says the statute was enacted to prevent potholes.

a. P wins, b/c there is an enforcement problem – we won’t know who caused all the potholes, so the legislative purpose is fulfilled only by such recoveries as this.

3. Ross v Hartman – liability for leaving a car open when a thief steals it and kills people as he drives 80 down the Midway? – yes, in this case, but most cases go the other way.

4. Vesely v Sager – (Dram Shop Act) – Good example of invoking the statute to avoid liability – problem is that the statute may be abused – the statute is not self-enforcing

a. insurance premiums would get outrageously high if people were allowed to leave the keys in their cars.

b. we like this statute b/c everyone wants people to lock their cars so their insurance rates stay down.

E. Civil Assault and Battery

1. TAB

a. Threat: Not actionable (except threats vs Pres., bomb threats) BUT, slander and libel are actionable

b. Assault: Intent with NO contact

c. Battery: Intent + Contact

2. People don't like attempted bad behavior, so this is a good place for an up front rule.

F. False Imprisonment

1. Defined as "wrongful capture with deprivation of liberty"

2. Tiffany's Hypo: Person at Tiffany's, power goes out, what can the store do?

a. Guard the door

b. Don't let more people into the store

3. In actual case, Tiffany's kept everyone in the store all night unless they were willing to be searched.  2 tort suits: Unlawful search or false imprisonment. Tiffany's will imprison and search b/c the value of the lawsuits is less than the value of the jewelry.

4. Two more possibilities, then

a. Ask people if they are willing to be searched

b. Search the employees

5. Real rule seems to be Unreasonable intentional wrongful imprisonment.

6. Tiffany's will probably pay, but not 100% - as long as Tiffany's is equal across the board, they should be okay.

7. Anti-Golden Rule: if you are negligent, the law would throw the book at you.

G. Judge And Jury

1. B&O Railroad v Goodman – where P was crossing the train tracks and got hit by train. Judge ruled no liability b/c P had duty to "Stop, Look and Listen".

a. General Rule is that negligence cases go to the jury, but if no reasonable jury could find negligence, then summary judgment for the D from the judge. 

b. Doesn’t matter if the rule is moving toward strict liability b/c the juries will decide the same way if it were a Negl Rule, AND the RR would behave the same way also. 

c. So, while the rule doesn’t matter, the judges will send more cases to the jury anyway, b/c they are less likely to be overruled, and they don’t like to be overruled.

XI. Proof of Negligence

A. Res Ipsa Loquitor: The Thing Speaks for Itself

1. Short Cut (like Statutes and Custom)

a. 99% of the time, the accident does not happen without negligence, so hold D strictly liable – saves time and money.

b. Accident must be caused by agency or instrument within exclusive control of D.

c. No contributory negligence by P.

2. Banana Peel Hypo

a. No recovery under RIL unless P shows untaken precaution (like a brown peel that should have been cleaned up long ago) – otherwise no causation – we don't think store caused the peel to be there.

3. Pfaffenbach v White Plains Express

a. prototypical RIL case

b. Car swerves across lanes, and D gave no explanation.

c. P wins b/c of RIL – D is silent on whether there was negligence.

d. Info-forcing ala Hadley: we need RIL so that Ds won't be silent.

4. Rodeo Promoter Hypo

a. 1000 people at a rodeo, $10/person, only collects $4990. (499 payers)

b. Promoter vs Randomly chosen Patron #1 – RCP doesn't pay

i. Why? b/c it is too random – too much error. We need an info-forcing rule here.

ii. We want the promoter to issue tickets with stubs, stamp people's hands, etc.

c. Even though the rule is more likely than not, and the numbers are on his side, promoter should lose – this would reduce error.

d. Naked Statistical Evidence Alone Is Insufficient To Support A Claim In Law

e. What IF: 900 people paid, and there were stubs? But, 50 people lost the stubs?

i. 150 people go to court (100 haven't paid, 50 w/o stubs)

ii. Clear preponderance of the Evidence (2/3 of the people in court have not paid)

iii. If promoter wins, he over-collects by 50 people – how do we slove this problem? – Probabilistic rule – everyone pays 2/3 of a ticket.

f. Basically, this brings us into our statistical problems….

5. RIL versus POE: Think about one compared to the other ( Is there a step that the D could take to make it better to apply POE in the future? If so, then "RIL them" in that case, thereby shifting the burden to encourage them to take the extra step for future cases.

a. Gearhart Industries Case - Exploding hand grenade due to faulty inspection. Inspection records do not exist

b. Colmenares Vivas – Escalator came to abrupt stop and injured P. Recovery without proving negligence – RIL. Why? 99% chance only way injury occurred was b/c of escalator malfunction. 

i. A burden shifter – if you can show total control of D, then D loses unless he can show some lack of control.

ii. This case not clear-cut – we want some discovery to see if D had maintenance records, etc. (but still has control over everything)

c. Ybarra v Spangard – P's arm was paralyzed while being operated on for appendectomy. P was unconscious, therefore RIL.

Ybarra Continuum – chances of collecting against tortfeasor:




B. Error Minimization with Multiple Tortfeasors

1. Four Rules: Base Example: A – 60% negl, B – 40% negl, Damages = $100

a. No Recovery: NSEII… Either have Expected Error as 100 or 200(200 counts victim's loss), 100 is the better number.

b. Preponderance of the Evidence: A pays 100. Expected Error = 80. [.6(0) + .4(200)] where 60% of the time zero error, and 40% of the time A pays 100 too much and B pays 100 too little.

c. Probabilistic Recovery: A pays 60, B pays 40. Expected Error = 96 [.6(80) + .4(120)] where 60% of the time A pays 40 too little, B pays 40 too much, and 40% of the time A pays 60 too much and B pays 60 too little.

d. Partly Probabilistic Recovery: A pays 60, B pays 0. Expected Error = 88 [.6(40) + .4(100+60) = 88] where 60% of the time A pays 40 too little and 40% of the time A pays 60 too much and B pays 100 too little.

e. POE is the Error minimizing rule – "A-HA!"

2. Summers v Tice – joint and several liability - 2 hunters, both fire at a duck, shoot a person in the process. Nobody knows whose shot killed guy. Both are badly behaved, but only one causes the injury. Recovery based on POE. BUT, this is 50-50 chance for each D. So, in our system, no recovery.

a. On Eros, an up front system, they would pay no matter what because of their bad behavior.

3. Reviving the Probabilistic Rule (even though it is high expected error)

a. there is something more attractive about this rule for the 40% guy – intuitively, b/c the error is higher, but if the error happens, B pays less overall.

b. Hurricane Predictor – 

i. US predictor – always 20 mph off

ii. European predictor – ¾ of the time almost perfect, ¼ of the time off by 36 mph

iii. We want the US predictor b/c one big error is statistically worse than constant smaller errors

iv. This is like comparing POE to Probabilistic

4. Cases to look at:

a. Kaminsky v Hertz: Blizzard, and Hertz/Penske truck swipes someone off the road. P says 85% likely that truck was a Hertz truck acc to witnesses, and D says NSE – P wins by POE, b/c no way for P to get any more information.

b. Weedhopper v Utah: Plane crash caused by a defective bolt in the wing. Bolt found on the ground, but unclear who makes it. Weedhopper makes 90% of those bolts. D says NSE – P wins, b/c there is nothing else P can do to get better info.

c. Smith v Rapid Transit: The Blue Bus case – P in an accident and say it was a blue bus that did it. 90% of the blue buses in town are run by Rapid Transit. D claims NSE – D wins b/c P could have done more in this case to get info (checked bus schedules, talked to witnesses, etc)

d. Garcia: School fencing team, weapon splits and injures the kid badly – no way to know who made the sword b/c the coaches put it in the box with all the other split swords. 2 companies make all the swords. 50-50 chance for each company. D wins, b/c school, coaches, etc all had better info – could have kept the split swords separate – it had happened before, and they still did nothing differently. P should have and could have done more.

5. Note: since POE is the low error rule, we use it unless we have a reason not to (eg, to info force, or not otherwise deterred)

6. Sindell v Abbott Laboratories: Drug for prevention of miscarriages causes cancer in the female children of the women who took it. Multiple manufacturers and no way to determine who made the drug that affected the P specifically.

a. One possibility is to let P recover before getting sick – up front solution – courts reject these claims by women trying to get preventative $.

b. With one victim and we collectively charge the drug companies, HUGE error

c. Large group of victims and the companies pay their market share, error likely to be zero.

d. Recurring Case solution: Over the long haul, probabilistic recovery looks pretty good

e. To minimize the error, all manufacturers must pay their share. (no one can get out of paying even if they get  info showing they did not cause this particular P's injury.)

7. To Sum Up

a. No Recovery rule looks better the more we think P could have gotten more information. (like Rodeo Promoter)

b. Probabilistic Rule looks better the more we have recurring Ds, so the large numbers drive to long run low error – more Ds and more cases.

c. POE is great if others don't work – b/c it is the low error rule

XII. Multiple Causers/Plaintiff's Conduct

A. In General

1. This section is about multiple party problems with P contributing to the problem.

2. Partial liability in these multiple party cases – drive toward splitting damages – comparative negligence. It's our moral intuition b/c from a behavior standpoint it doesn't matter. Evolution in torts is toward sharing rules (a flip from contracts where the law works hard to make one party win and one party lose)

B. Contributory Negligence

1. Butterfield v Forrester: (but a bit Levmore-ized): P speeding down a road, D doing an illegal 3-point turn in an alley, and blocks the road in the process, and CRASH! 

a. Either D is liable (full recovery) or P was contributorily negligent (no recovery)

b. If P does have to "pay" by being cont. negl., then the legislature may change the rule b/c they would think the penalty is way too high for negl. Ps. (D gets off completely)

c. The law already deters the P for speeding (tickets, risk of injury or other litigation in other situations, etc)

d. This sets up the idea that we need more than just tort law. If we used tort law only, then the D would never pay (due to cont negl of P) If we had a rule that there is no cont negl, then the P would never pay for their cont negl and the D would always pay. So, we need more than just tort law – we need combination of statutory and tort.

2. Gyerman v US Lines: P is moving crates of fishmeal that are negligently stacked, knows they are dangerous, doesn't tell supervisor. But no evidence that supervisor would have done anything anyway. No contributory negligence, P recovers.

3. Last Clear Chance: Plaintiff is not responsible for putting himself in danger if the D didn't use the last clear chance they had to avoid the harm. D can't use contributory negligence as a defense if:

a. D's reasonable care could have avoided the harm immediately before, and

b. D doesn't use reasonable care to avoid harm if he either knows or should have known the situation.

c. Frat Boy on the RR track hypo: victim says the train should have known he'd be tied there, should have gone slower. Train says vic assumed the risk. Ideally, kids don't lay on tracks, and trains go slow, BUT, world is messy. We need to hold RRs of the world liable b/c they are in the best position to stop the accident at the "last clear chance"

4. Casino Arena: where an expert tests the ice and says the ice is too hard, then goes back out, falls, and then sues arena. D says the skater "assumed the risk". P loses b/c she is an expert – If a non-expert was injured, the arena would no doubt pay. We want the expert to lose so they will have an incentive to get off the ice and/or warn other people about the ice. 

a. The arena doesn't need to pay b/c it is OTHERWISE DETERRED!

5. LeRoy Fibre: stacks of flax by the tracks – RR sparks hit the haystack and cause a fire. 

a. Rule doesn't matter

i. no recovery – the farmer will move his stacks back and RR is otherwise deterred anyway

ii. Both parties will avoid bad behavior because they are worried that the other one will be well-behaved, and therefore they will be liable. To avoid this, they will both be well-behaved.

b. Joint Maximization: the bargained agreement between the 2 which sets the standard for bad behavior

6. Fireman's Rule: If a fireman gets injured and sues the negligent homeowner for starting the fire, the fireman loses b/c we don't want to discourage people from dialing 911. 

a. Assumption of Risk argument: firemen assume the risk of negligent fires by being on the job

b. BUT, this rule does not predict the case against an arsonist – fireman could win against an arsonist.

c. Donohue exception: retired fireman giving safety talks at homes, trips on the stairs during a fire inspection, and sues the homeowner. Fireman wins b/c there are not the same incentives in place for not allowing the fireman to collect.

7. Yukon Equipment: Kids go to steal dynamite and blow up the shack so they won't get caught, P gets injured, police figure the whole thing out, kids are judgment proof, P sues owner of dynamite shack.

a. Could imagine SL rule, b/c blasters are SL (evidentiary problems)

b. Court upheld SL b/c they said incendiary thieves were not so uncommon an occurrence that it could be regarded as highly extraordinary. (unlike Madsen, which was highly extraordinary)

· Now moving into "It Takes Two to Tort" – a more complicated idea morally and intuitively – we are trying to reach a joint maximization idea

· Rules from places like Casino Arena and LeRoy Fibre are only good looking in a classroom – real people like rules where everybody pays their share, so….

C. Comparative Negligence

1. Two factories on the river, both being badly behaved, causing 100,000 in damages. Possibilities for clean-up of dirty river:

· A spends 40,000 alone

· B spends 45,000 alone

· AB Jointly: A spends 9,000, B spends 1,000

· ABJ solution is ¼ the cost, but requires joint effort

a. Best Single Party (Least Cost Avoider) – A pays (could be random, not necessarily LCA)

b. Grossest Causer Rule – B pays (but we just made this up, that B was GC)

c. Both Pay

i. 200,000 (both pay 100K) – possible that this would induce overprecaution

ii. Rule of Divided Damages – Both pay ½ the damages (much like Summers) – kind of a rule of convenience

iii. What would A do if the rule was divided damages?

(a) A might spend 40K, and then B might later spend 45K, OR B might spend 0, OR B might spend 1K so he can try to avoid negligence in court.

(b) A might spend 9K, then B might spend 45K, OR 0K, OR 1K

(c) A might spend 0, and B might spend 45K, OR 1K, OR 0

A big game of chicken (this is all assuming that B does not knoe what A has done/is doing)

d. Rule 4 a-d:

i.  (a) Share of Ideal Input = share of Δs ( A: 9000/9+1 = 90%, so A pays 90% Δs

(b) B pays 90% b/c they should pay according to how badly they were behaved – all B had to do was pay a little to prevent the Damages – so he's evil in comparison to A (this would be a jury argument – playing to emotions)

ii. (c) A pays 40/85 of Δs

iii. (d) Divide according to causality (the others are according to fault) – according to the scientists' allocation of which factory caused which Δs.

Impure Comparative Negligence – a lot like #4(a), but in a case where D was badly behaved and P was badly behaved. (in the other solutions, it was the clean P and one or more negligent Ds) Basically, you don't collect if you were relatively unclean.

· The rule probably doesn't matter so long as you are A or B and are badly behaved – b/c you will have incentive to be more well-behaved. ( this is our main goal in these cases!
2. Primary and Secondary Assumption of Risk

a. Knight v Jewitt – girl gets injured during a touch football game. Majority says no recovery b/c she chose to play, and it was a rough game and she knew that.

i. Primary Assump of Risk – like a skier who chooses a double-black slope – typical primary (b/c nothing wrong w/ having the slope) – no recovery

ii. BUT, taking AOR doesn't always remove the duty to the P, so may have only reduced recovery.

iii. Secondary Assump. of Risk – Last clear chance on top of AOR – like a skier who may have had opportunity to stop and flag down ski patrol, or turn off onto easier slope at last minute. – reduced recovery or maybe no recovery

3. A lot of law is thinking about opportunistic behavior and blocking it.

D. Joint and Several Liability

1. Liability is several, the tort is joint – see Summers v Tice and Sindell above

2. Defendants can be jointly liable, OR severally liable, OR both.

3. Kingston v Chicago & NWRy. – negligent fire and unknown origin fire join together and cause damages – examine the options:

a. 2 natural fires – no recovery (who would you sue?)

b. 2 unknown origin fires – no recovery (same Q)

2 negligent fires – recovery (citing Summers v Tice, but even easier than that b/c either D would have done the Δ in this case, while only one actually did any Δ in Summers)

2 people shoot at the same time at victim and claim neither killed victim beyond a reasonable doubt – they both go to jail, otherwise we have created the perfect crime.

c. Shoot someone and they have a heart attack at the same moment or one minute later, or 3 months later – no liability or very little b/c only small incremental damage (citing CalTex – took property a little b/4 enemy so no taking b/c enemy would have gotten it anyway). Tortfeasor lucky – pick arbitrary cut-off date for new evidence – rule doesn't matter which date you pick.

d. One negligent and one natural fire – no recovery b/c wrongful causer did no incremental damage (natural one would have done whole damage alone). Negligent fire starter otherwise deterred ala Casino Arena b/c can't count on natural fire next time he is sloppy.

e. One negligent fire and on unknown origin fire – recovery. We are worried fire consumed evidence of its negligent origin and that person will start second "unknown origin" fire secretly to escape liability. Cannot choose rule that is so open to strategic behavior so negligent firestarter pays here. Not about causation – it goes on Rylands list – negligent fires that join with unknown/suspicious fires.

i. Also compare with Exxon Valdez – you should pay only for what you did wrong (incremental) but it is too difficult for the courts to determine which party was responsible for which harm.

4. Arzon – 2 fires in a building, one started by arsonist, other we are unsure – following Kingston, liability for arsonist. If the guy could prove he didn't start the second fire, than it would be harder to predict the dots. 

a. there is a RIL argument here – 2nd fire at the same time as the first fire is way too coincidental, so burden shifts dramatically to D to show the other fire not his fault, not negligent, or natural.

5. Intro to the judgment-proof problem, under comparative negligence theory, with multiple Ds and multiple Ps

a. Negligent tow truck (A) and negligent driver (V) get into accident partly b/c of a manhole cover left off by B. W is innocent passenger in V's car.

V: 10% responsible, B: 60%, A: 30%, W: 0%.

b. V's Δs = 1000, W's Δs = 1000.

c. Total Δs = 2000, so A owes $600, B owes $1200, V "owes" $200.

d. So, A pays 267 to V, 333 to W

e. B pays 533 to V, 667 to W

f. V pays 100 to W, (100 to himself)

6. Judgment Proof Problem (American Motorcycle Association)

a. A, B, C equally cause V's injury, with 99 in Δs, so each owe 33.

b. 3 possibilities when one party is judgment proof:

all available parties pick up the slack, including the victim – they all pay 11 more (A is JP, B pays 44, C pays 44, V pays 11) – according to ther respective fault (here, equal fault)

i. All faulty parties pick up the slack (not the victim) (B pays 49.5, C pays 49.5)

ii. No one picks up the slack (B pays 33, C pays 33) – victim's tough luck (this may be the most intuitive rule, and in life, this is the one we normally go with)

c. AMA majority likes rule 2, dissent likes 1

d. the more we think that solvent negligent defendant knew that the other was judgment proof, the more comfortable we are with shifting that share fully onto the solvent defendant.

7. Liability Approaches – Sprinkling vs Single Best Problem Solver

a. Sprinkling/Comparative Negligence

i. everyone who was a wrongdoer divides the damages – we hope this would encourage people to be well-behaved. (like the factories on the river hypo)

b. Single Best Problem Solver/the Best Situated Party

i. Idea is that the leader will find a way to put everyone in line and make things come out the right way – this is the major theme of law currently.

8. Amoco Cadiz – Settlement Rules

a. No Contribution from Settling Tortfeasors: (Contribution plus settlement bar): Amoco Cadiz Rule #3: D(s) that proceeds to trial gets a credit of the settlement, so the P can never over recover. 

b. No Contribution: Amoco Cadiz Rule #1:  P can choose one D to sue for entire amount of damages, regardless of their level of fault, and D cannot get contribution from any other D. (If P settled with a D earlier, then it becomes like rule above) – encourages collusion between P and D1

c. Contribution: Amoco Cadiz Rule #2: If P settles with D1, then sues D2, D2 can get contribution from D1 for the portion of the damages not covered in the settlement. – Discourages collusion, but no incentive to settle.

d. Pro Rata Credit with Pro Tanto Rule: Amoco Cadiz Rule #4: Apportioned Set-off Rule: Can't collect more than somebody's share, regardless of the total damages. So, if P settles with D1 for 10, damages are 100, P can only collect 50 from D2 at trial. BUT, there is a danger of over-recovery here, if P settles with D1 for 90, eg, then collects 50 from D2. – P not likely to settle with this rule.

e. Pro Rata Rule: Like contribution rule, but allows the D who settled to get contribution from the D who went to trial if D1 over-settled.

f. Good Faith Requirement: Exists to prevent collusion. A very costly rule in administration b/c it usually creates a second, mini-trial to determine P's injury and who caused it before the actual trial to prove the D actually was the tortfeasor.

E. Vicarious Liability

1. 2 Types of vicarious liability:

a. Type 1: Respondeat Superior: The employer will have to respond for the errors of his employees in the course of their employment. 

b. Type 2: Strict Liability: Even though you didn't know what your employee was doing was wrong, you will be held liable anyway. WHY? b/c we don’t want to second-guess your Carroll Towing decisions so we will hold you SL. But, if you can show the likelihood that the accident was absurd given your precautions, then you won't be liable.

i. This is SL b/c it is really an evidentiary problem – to win a suit, you would have to go to court and second-guess how an employer runs his workplace. Since we don't want the courts involved like that, we choose SL. (may not change behavior, though, if employer is willing to pay)

2. Bushey v United States – where the Coast Guard employee/sailor went off while they were in dock and caused a little mayhem, and an injury. 

a. P sued the Coast Guard (not the sailor, perhaps b/c he was judgment proof), and the Coast Guard had to pay. (normally this would fall under the frolic and detour exception, but because the military has uniquely more control over their employees, we make them pay)

b. Generally, b/c of sovereign immunity, we hold the Government less liable than other employers, but in this case, close enough to the scope of employment (returning from shore leave) not to question liability, and to encourage better precautions by the ship in keeping their sailors in check.

3. Hardy v Brantley – Independent Contractors and Vicarious Liability – doctors as independent contractors to the hospital, one doctor causes injury, can the hospital be held vicariously liable as their employer?

a. Normally, employers not held liable for actions of Independent Kers. (an exception to VL Type 1) 

b. BUT, if the Ker is doing inherently dangerous work, then the employer can be held liable. (exception to the exception) (this is to ensure that employers don't use independent Kers to avoid liability)

c. Example: If homeowner hires someone to cut down a tree and the tree falls and kills a passerby, who is liable?

i. Action could be considered inherently dangerous, but no one would hire tree surgeons if they were going to be liable for such work

ii. These kind of contractors are "bonded and insured" – this makes them safer, b/c the insurer monitors their conduct – bad conduct, higher premiums, out of business.

iii. Insurance also makes sure no one is judgment proof, and the insurer becomes the SBPS.

XIII. Causation

A. Cause In Fact/Proximate Cause

1. Two types of Causation

a. Close to the tort: Proximate Cause

b. Far away from the tort: But For Cause

c. How do we decide which cause is which?

2. Polemis Rule: In Polemis, D negligently dropped a plank on a ship, caused a freakish fire. Rule is that D is liable even thought the fire was unforeseeable. Direct causation is more important than foreseeability. (You pay for anything you caused by acting negligent, no matter how unforeseeable)

3. Wagon Mound 1 & 2 – Assigning Fault
a. D spills oil near P1's dock, where P1 has left dirty, oily, flammable rags laying around, and as they were welding on the dock, the oil in the water caught fire, destroyed the dock, and spread far out in the ocean and destroyed P2's ship. 

b. Wagon Mound 1 – No recovery for P1, b/c the court wants P1 to be better behaved in keeping flammable stuff under control, AND, there is better deterrence for D elsewhere (WM2 case).

c. Wagon Mound 2 – Recovery for P2, b/c this will deter the D effectively, and P2 was not badly behaved at all.

d. We like this case a lot, b/c it accomplishes what comparative negligence would do w/out the game of chicken that usually ensues.

4. NY Central v Grimstad – where P was drowning, and wife couldn't find a life preserver due to D's negligence. Even if there is negligence, must show that it caused the harm. Proximate cause test.

a. Must be more than a causal connection – must be more likely than not connection to the harm

5. Palsgraf v Long Island RR – Cardozo opinion - where a guy was carrying a bomb in his bag, tried to board a train, D train operator pushes him onto the train, guy drops package, bomb explodes, P injured at the end of the platform. 

a. No Recovery – a brilliant Wagon Mound case, without the second case – D is otherwise deterred, b/c in normal situations, RR will be held liable for pushing people negligently. This was too farfetched to justify recovery.

b. Suggestion that P should sue bomber to collect for her injuries.

6. Hines - Price Incremental Causation:

a. If D's negligence puts P into a situation that makes him obviously worse off ex ante, then recovery.

b. Hines: P had to walk home 2 miles in the dark b/c the RR let her off in the wrong place, and then she was assaulted. P recovers from RR.

c. Price: P got let off in the wrong city, had to spend the night in a hotel, the hotel burned down, P was injured. P does NOT recover from RR. 

d. Ex Ante, the RR did not put Price into a more risky situation by making him stay at a hotel. Not more likely that a fire would happen at that hotel versus any other hotel or at home. BUT, it was more likely that Hines would be attacked walking in the dark in that area instead of near her home, where she should have been dropped off.

B. Recurring Misses/ Lost Chance Cases

1. These are solutions to the problem we get when we have less than a more-likely-than-not causal connection (like Sindell, Ybarra, and the ones that follow)

2. Lone Palm Motel – where a father and son drowned in the motel pool, and there was no sign and no lifeguard (according to statute, must have one or the other).

a. If they had put up a sign, reduction in risk = 2%, if a lifeguard = maybe 90% or 100%.

b. Big Problem with causation here. Hotel wins if we go by the book, b/c all they were required to do to not be negligent was to put up a sign, which only would have reduced chance of injury by 2% - no causation.

c. BUT, if they don't pay, there is a Recurring Miss – every time this happens, the hotel will not be liable by the same logic.

d. How do we solve this recurring miss problem? our problem being causation (so SL would not help us here)

Every time we see a recurring miss, we could have a fine – switch to an up front system

i. Make hotel pay 2% of Δs – a proportional amount (play by the numbers rule) – but ONLY b/c it is a recurring miss situation – when we are certain the hotel will not be otherwise deterred. (Herskovits' probabilistic recovery)

Restitution – D pays P what it would have cost to take the precaution (the amount they benefited by not taking the precaution – a Disgorging rule – unjust enrichment instead of negl/causation/SL (weak rule in lost chance cases – maybe better in other types of cases – insider trading, eg)

ii. Hotel pays 2% of the time – but they pay BIG in order to deter others from bad behavior. This may encourage settlement.

iii. Comparative Negligence

e. Recurring misses occur when a party is 0-50% likely to have caused the injury (eg, failure to warn, informed consent cases)

3. Lost Chance – Herskovits v Group Health Coop – Case which figures out the probabilities of negligence when time is lost for surviving disease. P had a 40% chance of survival, D caused it to drop to 30%. Court said the D is liable for 10%. – liable for the loss of the chance to be cured, even though less than more likely than not P would have survived in the first place. (causation, not survival, must be more likely than not)

a. P gets 10% recovery.

b. Old Rule: if patient had better than 51% of surviving, and Dr caused it to go down, P got 100% recovery, but if chance of surviving was less than 49%, then P got 0 recovery.

c. Without some recovery, deterrence is unlikely

d. Can also think of Gyerman as lost chance case (kid injured at work b/c of negligently stacked crates, also no cont. negl. by kid even though he could have said something – maybe recovery for lost chance, b/c we are afraid the employer was never going to pay otherwise.) (Levmore said this, not sure why, maybe b/c employee had a 75% chance of not getting hurt, and by crates being badly stacked, it was reduced to 30% or something?)
e. Same possible rules as in Lone Palm
4. Marshall v Nugent – D1s truck forced P's car off the road, and as they were trying to get the car back on the road, D2 came around the corner, saw his way blocked on both sides (the car/truck on one, P on the other) and tried to avoid crashing, but hit P and injured him.  Jury found D1 negligent, not D2. Sound?

a. Court said there must be a circle of causation drawn to limit the amount of recovery for future plaintiffs. 

5. Weirum v RKO – where radio station(D1) had contest and the winner had to get to a specified location first in order to win. P, teenager, trying to win the contest, got into a drag race with another teen(D2), driving around at 80 mph, and the P was injured in a crash. 

a. P collects from radio station – why? b/c they cannot be otherwise deterred.

b. P does not collect from D2 b/c the driver is deterred by tickets, criminal charges

C. Intervening Wrongdoers

1. Brower v New York Central & HRR – where a train collided with a wagon which was robbed while the driver was unconscious

a. Recovery from RR b/c thieves were nowhere to be found and they were judgment proof, and it was foreseeable.

b. Sometimes the intervening guy does break the chain of causation, and sometimes the courts say that the D should have foreseen that there was a possibility of an intervening wrongdoer (as in this case)

2. The more likely the intervening party is to do the bad thing, the more likely the courts are going to hold the D who created the situation liable.

3. Blackout Cases

a. Blackout 1 – meat spoils in people's fridges, there is looting. 

i. D (ConEd) pays for spoiled meat but not for looting (not foreseeable)

ii. no need to do more, b/c ConEd will improve the system anyway, store owners will put better security in anyway.

b. Blackout 2 – same thing happens – spoiled meat and looters

i. This time, spoiled meat people only collect with receipts (to prevent opportunistic behavior)

ii. Looting definitely foreseeable.

iii. If ConEd does not pay, store will make more effort to protect themselves

iv. If they pay even more stores,  ConEd raises rates to compensate for losses, but this does not end looting problems. 

v. Court order to construct an $11-M back-up generator?  (Unlikely decision for Ct., Likely from Legislature)

c. In fact, Torts not the best place for these types of cases – issues too widespread and too much money involved – needs to go to the regulatory system (which it does)

D. Emotional Distress

1. Impact Rule: Cannot recover for pure emotional distress – must be accompanied by a physical injury. 

a. Mitchell v Rochester Railway – where a mother had a miscarriage due to fright from D's negligent horse & carriage driving. Mother cannot collect for injury caused by fright.

2. Alternative Rule: Remote Impact: By and large, no recovery, but, sometimes there may be recovery for parents b/c they are so uniquely close to the victim (child). 

a. Dillon v Legg – P, mother, watches her child get hit by a car, and recovers for emotional distress (pain and suffering).

b. Tobriner, in Dillon, created the Zone of Danger rule – must be within a certain zone close to the injury to collect. (must see the injury, and be sufficiently close to the victim emotionally)

E. Economic Loss

1. Normally, Pure Economic Loss is not enough to establish recovery

2. Moosejaw Solution:

a. There is a negligent derailment in a town, everyone has to evacuate, town moves to Moosejaw for 3 days, and eats the donuts at the Krispy Kreme there. 

b. Town A's Krispy Kreme sues the RR for economic loss and clean up costs

c. The Math:

i. Clean up Costs = 250,000; A's KK losses = 100,000; M's KK gains = 95,000

d. Possible Damages:

i. 250,000 (costs only); 350,000 (all negative #s); 255,000 (net loss)

e. Economic Loss Doctrine: RR pays 250,000

i. Though we would like to collect the entire net loss, we have to draw the line around the one who caused the damage to avoid excessive litigation, but they do not pay for pure economic loss. 

ii. This is okay, since it is very close to the ideal of 255 anyway

f. No need for other deterrence, since they do pay costs

3. Union Oil v Oppen –D spilled oil, causing damage to water and killing fish, causing economic loss to fishermen. 

a. Here, we allow P to collect because D is not otherwise deterred – no reason to think that his type of accident would happen again, and no other injuries from this one. – the uniqueness of this accident allows us to depart from the rule.

4. People's Express v Consolidated Rail  - airport had to shut down b/c of spill at the railyard.

a. Even though the loss by the airline was offset by someone else's gain (so little or no net loss), maybe we should award damages.

b. We may want People's Express to collect, b/c we are worried that the RR is not otherwise deterred – very small, very rare accident. (like Union Oil)

c. Really this case could go either way – maybe they could be otherwise deterred by the possibility of future direct negligence.

5. Phoenix Hockey – where a goalie gets negligently run over by a car, and the team has to get a replacement – team sues driver of the car for salary of new player. 

a. No Recovery b/c the driver is otherwise deterred, and we have offsetting gains and losses

6. Washington Iron Works – where X(manufacturer) knew his cranes were defective but didn't repair it, then another company's (D's) crane broke and killed people. P sues X for cost of replacement crane. People sue D for those torts.

a. X is otherwise deterred (by possible deaths of 11 people, if it had happened to X directly) and there are offsetting gains and losses, BUT

b. Recovery – Judges sometimes want to deter here and now!

c. Mainly seems to deal with the idea that the deterrence is too hypothetical – may or may not happen to X.

7. Death of the Contract: Grant Gilmore: Commentary who said that allowing lawsuits for torts outside of the contract kills the contract – no point for it anymore.

a. Really, law has moved the other way – you can contract around the tort – using Ks to avoid torts is bringing about a revival of law, not a death of contract.

XIV. Affirmative Duties

A. Rescue

1. Problems with large carrots:

a. Large rewards lead victims/owners to take excessive precautions to avoid paying such rewards.

i. Could have the state pay the rewards

b. Moral hazard of potential rescuers creating demand for their own services (false rescues for cash) (eg, friend drills hole in grandma's boat)

i. could balance this with a big stick

2. Problems with Big Sticks (criminal liability for incompetent rescuers)

a. People avoid rescuing, or avoid the beach, where they might be called upon to rescue if they fear a penalty – an activity level effect (discouraging altruism) (Landes & Posner)

b. Encourages people to rescue who are not competent to do so.

3. European Approach (modest stick/modest carrot) – 

a. Eckert v LIRR – a passerby tries to save a boy from getting hit by the train – "danger invites rescue" – Modest carrot b/c if someone negligent causes the danger and you get hurt trying to rescue the victim, the negl. party pays for your injury.

4. Special Relationships – Allows for liability in rescue situation by "selecting" the SBPS (the best situated rescuer) – if many people can rescue, we may be afraid of imposing a duty to rescue, b/c we are unsure of negligence/causation. But, with a special relationship rescuer, we are confident of negligence/causation, and are willing to impose liability.

· No duty to rescue if there are multiple potential rescuers. Special relationships only exist when there is one rescuer and one in peril.

a. Kline – Negligent apt owner(D) didn’t put in safety precautions after several complaints and attacks. P gets injured during attack in the hallway

i. P recovers b/c landlord/tenant qualify as special rel. Landlord was easily SBPS

b. Tarasoff – Guy under psychiatric care kills a woman on a college campus. Her parents sue the University, the Doc's employer.

i. P recovers b/c Doc is SBPS from the special rel of doctor/patient, and University is vicariously liable for Doc.

c. Other special relationships: hotel guest/Hotel, shopkeeper/customer, shipowner/crew, teacher/student, doctor/patient, husband/wife, parent/child, etc.

d. Rowland v Christian – P is invited to D's house and injures his hand on a broken porcelain faucet.

i. Old Rule: Social guest takes the premises as they find them – no recovery (just as a trespasser would. This was probably b/c law thought that people would treat each other well when they are in each others' homes, so we don't need extra law to make them behave better. And we don't care about trespassers.

(a) But, this exception did not apply to business invitees – still liable for them

ii. New Rule: Now, there is recovery for both the social guest and the business invitee, but still not the trespasser

(a) Rationale for this rule is probably that in a modern world, people realize that they may have to sue their friends in order to access their insurance.  

e. Charities, sovereigns, extended families are immune from special relationship duty, b/c we think they perform a net social good.

XV. Nuisance

A. Offer-Asking Problem

1. The idea is that initial endowments (wealth) affect our willingness to pay, or at what price we value our preferences.

2. It shows us that sometimes the rule does matter because it endows one side with a  legal right that alters their preference pricing.  

a. It is important to realize in theses cases that there is no neutral position ( whatever rule the court uses, the cloud view world comes out looking different.

3. Offer-asking differentials only matter, though, if they occupy the same space (eg,  one of Wonnell's asking prices is in between Jessbie's two asking prices)

4. Offer-asking problems typically do not exist in commercial situations because businesses have no taste – only concern is maximizing profits.

B. Calabresi Rules – Liability and Property

1. Hypo: Factory A earns 10,000 a year in profits, and causes 5000 in damage to B. If A spent 1500 on taller smokestacks, B's damage would only be 3000.

2. Possible Rules:

1 – B stops A : (and, B collects Δs) Property Rule (usually property rules include damages)

a. 1(E) B stops A and A pays 1500 in for unjust enrichment.

b. 1(F) B stops A : Forward-looking rule – 0 damages

c. 1(P) B stops A somewhat : Some damages in partial property rule.
Partial Property Rights

d. The main idea behind the worksheet (besides review of some of these rules) was that courts could mix tort liability and property rights to create a partial property rule.  

e. If the court isn’t sure exactly where the Carroll Towing/bargain/short-cut is, but is sure that the factory is producing too much pollution, the court should enjoin the factory from producing a level above X (where X is a number near Carroll Towing level)
3. 2 : A pays B : Liability Rule (aka 2(C) with the “c” meaning “continuing”)

a. The court may yet stop A  if the violation continues.

b. 2(G). General Average Contribution - A pays B in part as long as there is no negligence

c. 2(S): SL - A pays B no matter how much the smokestack costs 

d. 2(N): Negligence - A pays B because of anti-Carroll Towing behavior (either 5,000 full liability or 2,000 incrementalist)

e. 2(E): Enrichment - A pays B the cost of the smokestack 

f. 2(B): Backward-looking - A pays B only for the past 

g. 2(F): Forward-looking - A pays B only for the future

h. 2(X): Extraction - A pays B 10,000 (If B gets property right, in bargaining B will hold out for 9,999 for allowing A to operate) - very P friendly
4. 3. : A is ok - continue as before

a. 3(G): Sovereign Immunity - A is only ok if A is the gov’t
5. 4. : B stops A, but B pays A - probably 1,500 (to imitate the bargain)
6. 5 (proposed rule): If A chooses to stop, B pays A 2,000 (this prevents B from exaggerating her damages or the source of her damages) THIS IS A CARROT RATHER THAN A STICK. (likened to tax incentives)

a. 5(CE): If A continues, A pays B just under the amount of the precaution (this prevents A from exaggerating the costs)
b. Rule 5 creates a huge offer-asking problem because one party (usually the resident) doesn’t have enough money to reflect her preferences.

c. Another way to think of rule 5 is the game where one child cuts the cake and the other child chooses which piece he wants

C. Private Nuisance

1. Two ways to protect something – Property rules and Liability rules (see above)

Morgan v High Penn Oil – Oil refinery polluted and messed up existing P's business

a. Switches from a liability rule to a property rule.

i. WHY? Damages hard to evaluate. (this is also why negligence is the rule in our system, and SL the exception – we want to calculate Δs as little as possible)

P gets an injunction against D (the refinery), and Calabresi says this is not a problem b/c if the refinery is not anti-Carroll Towing, they can bargain with the residents to stay open.

2. Airport Hypo: Airport wants to extend their runway and the people who live nearby sue and get an injunction to stop them from building.

a. The rule matters: if airports have to pay, they will move further away from the cities. If they don't pay, their property value sinks b/c all the people move away.

b. BUT, airport can go to the legislature and get a permit to build

c. Can't High Penn Oil do this too? NO – not public enough for legislature to get involved.

D. Public Nuisance 

· still keeping Calabresi's rules in mind

1. Fountainbleau v 45-25 – two hotels in Miami fighting over shade.

a. One way to look at this case is as a "coming to the nuisance" problem – F was there first, and E should have realized the possibility of F building an addition.

b. Offer-Asking problem? – No, b/c they can communicate, they speak the same language, and both are businesses, no taste.

c. Coase Theorem – Rule doesn't matter – they will bargain around it

d. Legislature – The legislature should take care of it – it is a "public nuisance" – it is the business of the area to have sun on the beach – the zoning was done already.

2. Rodgers v Elliott – guy with weird affliction gets convulsions when the church bell rings. Why wouldn't the court shut down the bell?

a. B/c only one guy is bothered, and many others are not

b. b/c if they do stop the bell, it sets a bad precedent for idiosyncratic people (under Rule 1) – a moral hazard problem

c. Rule 3 is what you would expect (A is ok)

3. Ensign v Walls – Dog breeder moved in first, then homeowners moved in, and sued for nuisance. Homeowners win. Why?

a. Law says you can't build something that is a nuisance per se, no matter who comes second.

b. Unless it is a dog breeder with a sentimental attachment to the land, the dog breeder will be very happy, b/c property values will grow.

E. Sovereign Immunity

1. Traditional Rule: The sovereign is immunized against tort liability for everything

2. Federal Torts Claim Act: The government is liable for acts that are outside of its discretionary function (we think of these as things we can easily go to the ballot box to fix)

3. Raytheon hypo: Building patriot missiles in MA – turns out they never hit anything they were supposed to and we lose the Gulf war. Government sues Raytheon, does Raytheon pay?

a. This is a contract case – so damages would be low – costs probably

b. Also, Raytheon is otherwise deterred – if they make bad missiles, Gov't won't give them any more contracts

4. SWITCH the Hypo – The gov't is firing missiles the wrong way and hits your house, do they pay?

a. Traditionally, no, b/c the government NEVER pays

b. But, they will pay if this was not within their discretionary function. (If it was a wayward worker dropping missiles for fun, then gov't would pay)

5. Political Check – The discretionary function more or less tracks this kind of check. If it is discretionary, then the voters will take care of it, so no need for tort law.

6. Examples to clarify what is a discretionary function:

a. Gov't routes planes the wrong way – gov't doesn't pay, b/c they are doing their best, and political checks will take care of it

b. The way in which a war is fought – discretionary

c. Approving vaccines and then vaccines fail Carroll Towing – discretionary – would also be on the front page of the paper – no need to make gov't pay

d. Out-of-bounds gov't employee – one who doesn't follow orders or acts crazy – can have a case for liability

e. State level – 11th Amendment – says states are immune from suits from citizens

i. This has been interpreted to apply only to monetary suits, so injunctive relief may be available

ii. A municipality may be sued – no 11th amendment protection

iii. Park Ranger tells you to go on the wrong trail, can you sue the state? no, but you may be able to sue the individual.

7. Discretion defined:

a. If the private sector can do the job and would be held liable for negligence, then the gov't should be held liable also – NOT discretionary

b. If the private sector can't do the job or wouldn't be held liable, then the gov't shouldn't be held liable either – we don't need the citizen to be able to sue

c. Is it something the gov't has discretion over? – If Congress delegates discretion to the federal employee, then you CAN'T sue – BUT, if they don't give the employee discretion, then you can.

d. If the underlying Congressional theme provides a political check, then you don't need torts

XVI. Products Liability

A. Generally

1. Products Liability shows us that we should sue the manufacturer. Not really significant that it is a SL rule, because in practice you have to show the untaken precaution, so it is basically negligence.

2. A movement towards the Least Cost Avoider in PL cases or Best Coach.

3. We avoid liability for the one who:

a. has the most contractual avenues

b. is the "wisest woman on the road"

c. is the most likely to solve himself

B. Privity Rule Gone to Pasture

1. Winterbottom v Wright – where P dies from a badly made carriage, which was made by some company, then distributed to and sold by another company. Person to person tort law – the P cannot sue the manufacturer, only the dealer he bought the carriage from.

2. MacPherson v Buick Motors (Cardozo opinion) – where P was injured when his wheel on his car fell apart. He had bought the car from a dealer who bought it from the manufacturer. Simple inspection would have found the defect.

a. Cardozo eliminated the privity requirement in PL

b. Transferred intent: we want to deter people from malicious or negligent behavior, so we hold them liable even though the intended victim was someone else. 

c. We need torts b/c it isn't Contract law – It goes beyond K law (which would let you sue the dealer) and lets you sue someone who is distant in contractual space.

d. We like this rule better than the privity rule b/c we think that the manufacturer is the better SBPS

e. This is NOT necessarily the least cost avoider (that may be the wheel sub-K/manuf.), this is about who is best situated to prevent the tort.

f. Sampling NOT a defense: doesn't matter that you only have a defect 1 in 1000 times, you still can't use that as a defense.

C. Strict Liability and Products

1. Hypo: What if a light falls on you while you're in class? Possible Ds: school, light manufacturer, alumni (but for whom we'd be in another room), or sue ALL under a sprinkling/comparative negligence theory.

a. Under PL, we don’t care.  This is the point of strict liability

b. The rule doesn’t matter…

c. Incentive to test at all remains under strict liability because the companies don’t want to pay for dead students.

d. Rylands list because manufacturer has all the information

2. Casa Clara v Charley Toppino – car blows up and kills the person in the front seat.

a. K said only limited liability for manufacturer. – This is an example of the Death of the Contract – even though you can't sue on the K, you can sue in tort.

b. BUT, there must be damage outside of the K - Recovery possible if no personal injury but there is damage to significant OTHER property (valuable personal possessions).

c. (of course, no recovery for pure economic loss in tort)

d. Recovery definitely in this case, b/c there was a personal injury claim (and they will also probably pay for the car)

3. Goldberg v Kollsman Instruments – Plane falls from the sky – Res Ipsa Loquitor – we are positive it was a defective product. Can sue Amer Air, Lockheed (airplane manufacturer), and Kollsman (altimeter manufacturer).

a. Recovery against Lockheed, but not Kollsman (b/c Lockheed was the assembler)

b. Maybe recovery against AA (b/c also an assembler of sorts)

c. Doesn't really matter who gets sued b/c they have contractual avenues to prevent against this kind of litigation, or have insurance.

4. Pouncey v Ford – Fan blade flies off and hits P in the face. Possibilities (w/ hypos):

a. Fan actually ok when made, and someone along the way bent it and eventually it flew off

i. No Recovery

b. Bad metal in the blade and for an 8 cent inspection they could have found the defect.

i. Recovery

c. Impure/bad metal, but not detectable

i. Still recovery, b/c it is a "construction defect" – no sampling defense

d. Impure/bad metal, but all cars have this metal, and once in a while a fan flies off – an inevitable impurity

i. Maybe recovery – may not be considered dangerous, BUT could look like info-forcing, or techno-forcing where we would make Ford pay

D. State of the Art

1. If it was "state of the art" when it was originally manufactured and is now discovered to be dangerous b/c of new technology, there is no recovery

2. If the manufacturer can prove "we couldn't have made it any better" then they do not pay. (always a good defense)

3. Two exceptions to state of the art defense rule

a. Asbestos – They are being required to pay to fix the problems

b. Old Drugs (old as in it isn't the rule anymore) – In NJ, there was a case where the drugs were later discovered to be dangerous, and the drug co. paid to replace the ones out there, as well as damages, but rule didn't last, too widespread.

E. Used Goods

1. Where a P could sue manufacturer for defects in new goods, can't sue manufacturer for used goods – company too far removed from the goods

2. they can reasonably say that the product was modified since they distributed it

3. Can't sue dealer either (under SL/PL) – maybe for negligence if the case is there

4. Why a different rule for used goods?

a. maybe b/c it is even better than MacPherson (SBPS up front system)

b. Bowing to the market – people buy used goods b/c they are cheaper, and if we make the rule SL, the prices would go up.

F. Duty to Warn - Disclosure

1. Question after who pays the price of fixing the problem is who bears the purden of warning the world….

Hypo: Radon in Levmore's house – if they sell the house, and the new owners die of radon poisoning, how could they show that Levmore knew about it?

2. Buyer always wins if the following is not disclosed – b/c the net loss is different for the seller than the ignorant buyer:

Termites – S will do something to get rid of them, B won't know until the Δ is beyond repair

a. Gaping roof – S will move piano out of the way when it rains, B will have property Δ b/c they won't know

b. Contaminated H2O – S will not drink it, B will.

c. Radon (could go either way)

Tough K'noogies for the buyer if the following are not disclosed – b/c the net loss is the same for the buyer and the seller

d. Arson activity (ie, unusually high arson level in the neighborhood)

e. Racial Hatred (if you are sure that the buyer is a racist like the seller, and they are outraged b/c they didn't find out about the white people next door)

f. Humid Summer (if the buyers thought the cool day was typical and no a/c in the mansion, and realtor didn't correct them)

g. High Utility Costs

h. Forthcoming Construction 

i. Hostile Teacher

3. The law is extremely Neptunian in this area (L&E) – the higher the net loss for the buyer (the bigger the disparity) the more likely the law will impose liability

4. Not worried about buyers' idiosyncratic problems, b/c the law assumes that people will ask about the things they need to.

5. Yale Bowl Hypo – Lack of water during the Yale Bowl b/c of all the water being used at the stadium, so no one in New Haven can use their toilets.

a. Looks like it should be in the tough k'noogies category (no net loss), but it really belongs on the recovery list b/c it is so bizarre, there has to be recovery

b. SO, we come to see it is not just a net loss idea, but also some info-forcing going on (ala Hadley v Baxendale)

6. UNI Theory EXCEPTION to the net loss theory above - the more you are well-situated, the more you have a net loss, the more we are concerned about innovation incentives – either you lie, or you interfere with innovation – should we worry about this? NO – the problem will solve itself:

a. Uniquely Well-Situated

b. Net Loss

c. Innovation

d. In predicting the dots, if you look only at the U and the N, you may mis-predict some of the dots b/c of innovation

i. mechanics – looking at U and N, he should disclose, but he doesn't, so must be b/c of innovation

ii. drug manufacturers – very close to the line

7. You hurt someone you pay, you benefit someone, you collect

XVII. Damages

A. Future Earnings

1. Calculate how much to give now in order to have it accrue to the level of the future earnings (get 120 now, like getting 130 later) – like discounting for inflation and adding in for interest – same thing, probably, if you just counted in inflation.

2. What if person could have had a better job? (ie, they turned down a promotion) – these arguments usually fail b/c it doesn't mean that you value your present job at the value of the one you turned down.

3. Paying for woman on maternity leave – 3 options:

a. 1.5 million (salary)

b. 0 (what she is making when she volunteers to take the time off)

c. 60,000 (est. cost of paying for childcare (or whatever else) while she is injured)

d. Usually, courts choose the childcare number

4. Taxability – Congress decides that the victim can have the money without paying taxes – even though it would be taxed if you were working. 

a. Maybe b/c of deterrent effect – Ds would rather pay an after-tax amount, so no tax deduction gives greater incentive not to run people over.

b. 99% of these payments are deductible for companies/employers b/c they have insurance to cover them.

5. Psychic Pleasure – P tries to bring in evidence that s/he really really loves his job, therefore values it more – no way – can't put a value on this

B. Pain & Suffering 

1. Generally we allow pain and suffering in Torts – highly speculative, but real, so legal system pays

2. big law reform in this area of Tort law – capping awards, etc.

3. Why no P&S in Ks? – b/c that would be like insurance for P&S (since it is essentially a SL system), and we don't have P&S insurance b/c it creates huge moral hazard problems. (fakers, inflicting own real injury to collect P&S, etc.)

C. Fees

1. Contingency Fees: In U.S., contingency fees are allowed in some areas of law, but not others.

a. Not permitted in divorce: Afraid that parents will use their kids as a bargaining chip, and suppress the child's best interest. note: Levmore thinks the law might change to allow contingency fees in cases with no kids.

b. Not permitted in criminal cases: afraid of crim lawyers taking $ to get people off

c. Not permitted in some civil rights cases: same reason as in divorce, basically – people aren't bargaining chips.

d. In general, there is a fear that contingency fees will rush settlements – chunk of $ now, or same $ (or slightly more or less) after a long, protracted discovery and trial process.

e. But, is hourly rate better? Discourages settlement, b/c lawyers want to have a long discovery and trial.

f. Solution? Contingency fee with a smaller cut if they settle early, a bigger cut after trial.

g. Can never be very high fee – "can't sell your tort claim" – most states allow a maximum contingency fee of 50%

2. American Rule: Each party bears its own fees and costs

a. Favors settlements in situations where P and D are not equally optimistic

3. British Rule: Two way fee shifting rule: Loser pays winner's costs

a. Risk averse Ps will be dissuaded from filing suits under this rule

b. Can't have contingency fees in this system b/c the risk is so big of losing that the lawyers would have to set the fee at 90% or higher to cover themselves.

4. When P and D are equally optimistic, the rule doesn't matter

a. If both are equally optimistic, even though they see the world in the opposite way, it is really hard to find room to bargain. 

b. If they are NOT equally optimistic, then the American rule allows more room for settlement than the British rule.

XVIII. Insurance

A. Generally

1. Hypo: Building has things falling off it, and it would cost $2 million to fix, and will cause $1 million in tort damages

a. Can the bldg collect the insurance even when they are horribly behaved?

i. Insurance pays for accidents/sudden occurrences. This was not, but they don't know that, necessarily

ii. No bldg owner would ever admit they knew the mortar was falling off the bldg, so the insurance co would pay.

b. It is good that the insurance pays, b/c they are probably the SBPS

i. they can internalize the losses better through higher premiums

ii. they will do more to find out whether or not things will start falling off bldgs before they issue the policy. They care the most about making sure it doesn't happen

2. Duty to Defend Clause: a lot of times, the insurance co has clause in the policy that they control your litigation

Problem arises when there is a settlement offer close to the policy limit, you want to take it, insurance co doesn't, b/c they want to pay $0.

a. Prototypical Tort case – you tried to bargain, insurance co didn't listen to reason and cost you lots of money

b. Possible solution: Use a third party to judge whether the settlement is good or bad. This may be too expensive to implement

c. Unlimited Insurance? could be a solution, but this would possibly allow claims to get out of control (along with premiums)

3. Coordination of Policies

a. A borrows B's car and both have insurance, A gets in accident, whose insurance do we want to use?

b. We want to use a SBPS rule – A is best person for this b/c A was the driver, and this idea of SBPS is what insurance is focused on.

4. Uninsured Motorist Coverage

a. Coverage against injury by a third party who has no insurance, and who is legally responsible for the accident

b. Bodily Injury is a requirement for this type of coverage

c. Only kind of 1st party insurance which allows you to collect for pain and suffering – there is a reduced moral hazard b/c no one would try to get themselves run over in order to collect

5. Lots of different insurance packages, which runs the risk of lots of litigation regarding where to draw the line, especially since 2 parties may have different policies with different coverage.

a. Hypo: guy buys a Lexus, next day gets assaulted in his car – can he collect under the car insurance?

i. Could try to make the argument that his new car increased the likelihood that he would be a target (citing Hines and Price)

b. Hypo: Guy gets assaulted while carrying his insured violin, and gets injured while trying to protect it 

i. he could say that he did everything he could to save the violin, and the insurance should pay b/c they don't want the guy to let it go. 

c. These are the types of cases our system doesn't really like – prototypical restitution claims

6. No Fault Insurance

a. Everybody pays for their own damage

b. No tort system here, except for the really big cases

c. BUT, problem arose where everybody sued anyway, claiming that the accident was really big, so they could use the tort system and get out of paying.

d. The system died out, b/c it didn't reduce litigation, which is what it was designed to do.

B. Workers' Compensation

1. Originally, workers' comp was a smaller amount – less than what you would make if you were making + your medical expenses 

2. BUT, people started to figure out ways of collecting more and more money

3. Richardson v Feidler – guy fell off a roof while on a break from working. He was waiting for more materials to arrive, and stole copper downspouts from a neighboring roof and had the accident. He collects.

a. Must be the rule that he recovers even with unclean hands, b/c otherwise the employer will just make lots of rules so he can always say that the employee was breaking a rule if there is an injury.

b. Then there would be litigation regarding the importance/usefulness of the rule, and this is what workers' comp is trying to avoid.

C. Pay at the Pump Solution

1. System of insurance experiment in CA

2. An extra fee tacked on to each gallon of gas purchased to pay for insurance for everyone. Common fund with no tort system added on. 

3. This way, you pay proportionate to the amount you drive.

a. good connection between cost of insurance and the drivers causing accidents

4. Compare to no-fault: Preserves the activity level of driving the car 

a. better connection between costs and those causing accidents

5. Compare to Torts: Best connection to the ones causing the accident, b/c only they pay.

D. Back to Rylands List

1. Pretty much the same, with a few exceptions

Blasters, Innkeepers, Common Carriers – all still on the list, but have moved beyond SL, b/c they all require insurance – some insurance co will pay the Δs now.

Lightning	        Hit & Run         1 barrel,         Ybarra, one      Ybarra all             Elevator, ¼             Reasonable        1 barrel,       Vosburg


on class trip       1/100 chance    2 owners          at a time           together              pickpockets             intentional        1 injury        original


                                                                                                                                                                 tort	      	      
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Otherwise Deterred – hugely important theme
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